
POCHODNE

oprac.: T. Bajon, E.  Lobos, R. Marjasz, R. S lowik

Obliczyć pochodn ↪a podanej funkcji (w jednym kroku, bez upraszczania i wyznaczania dziedziny).
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· arcsin

√
1

x
− 2x +

+ tan

(
ln(x2 − x)

1− e−x

)5

· 1√
1−

(
1
x
− 2x

) · 1

2
√

1
x
− 2x

·
(−1

x2
− 2x · ln 2

)



31) y′ =

[
sin7 x3 + x · 7 sin6 x3 · cosx3 · 3x2 − 1

1+ 1−2x
3

· 1

2
√

1−2x
3

·
(
−2

3

)]
· ln2 1

x
−
(
x sin7 x3 − arctan

√
1−2x
3

)
· 2 ln 1

x
· x ·

(
− 1

x2

)
ln4 1

x

32) y′ =
1

cos2 x
· ln 2−

1√
1−(1−2x)

· 1
2
√
1−2x · (−2) · cos x

2
· ln

(
1
x
− e3x

)
− arcsin

√
1− 2x ·

[
− sin x

2
· 1
2
· ln

(
1
x
− e3x

)
+ cos x

2
· 1

1
x
−e3x ·

(
− 1

x2 − 3e3x
)]

(
cos x

2
· ln

(
1
x
− e3x

))2

33) y′ = (x + 2x) · −1

(x + 2x)2
· (1 + 2x ln 2) cos 1 +

[
(
√

sin 2x− x4 + x · 1
2
√
sin 2x−x4 · (2 cos 2x− 4x3)

]
· arctan

√
x− x

√
sin 2x− x4 · 1

1+x
· 1
2
√
x

arctan2
√
x

34) y′ = 2 ln

x +

√
x2 − 2

x

 · 1

x +
√
x2 − 2

x

·

1 +
1

2
√
x2 − 2

x
·

(
2x +

2

x2

)+

−
1

1+(2x)10
· 5(2x)4 · 2 ·

√
x sin2 x√

3
−
(
1 + arctan (2x)5

) [
1

2
√
x
· sin2 x√

3
+
√
x · 2 sin x√

3
· cos x√

3
· 1√

3

]
x · sin4 x√

3

35) y′ =

(
1 + 1

sin 2x
· cos 2x · 2

)
(x− 3x2)− (x + ln sin 2x) · (1− 6x)

(x− 3x2)2
−
{
− sin

2

x
·
(
− 2

x2

)
· arcsin

√
1− 3x2 +

+ cos
2

x
· 1√

1− (1− 3x2)
· 1

2
√

1− 3x2
·
(
−3x2

ln 3 · 2x
)}



36) y′ =
1

cos2
(
1−x√

3

) · (− 1√
3

)
−
{

3 ln2

(
x2 + x

1− e−2x

)
· 1− e−2x

x2 + x
· (2x + 1) (1− e−2x)− (x2 + x) (−e−2x · (−2))

(1− e−2x)2
· arcsin

√
1

x
− 2x +

+ ln3

(
x2 + x

1− e−2x

)
· 1√

1−
(
1
x
− 2x

) · 1

2
√

1
x
− 2x

·
(
− 1

x2
− 2x ln 2

)}

37) y′ = ln3 (cosx− x)4 + x · 3 ln2 (cosx− x)4 · 1

(cosx− x)4
· 4 (cosx− x)3 (− sinx− 1) +

−

− sin 2x+3√
5
· 2√

5
+ 1√

1− 1
x2

·
(
− 1

x2

) · √3x + e−x2 −
(
cos 2x+3√

5
+ arcsin 1

x

)
· 1

2
√

3x+e−x2
·
[
3 + e−x

2 · (−2x)
]

3x + e−x2

38) y′ = 3 ln2

(
tanh 5x√

2

)4

· 1(
tanh 5x√

2

)4 · 4
(

tanh 5x√
2

)3

· 1√
2
· 1

cosh2 5x
· 5 +

+

arccos
√

1− 1
x

+ x −1√
1−(1− 1

x)
· 1

2
√

1− 1
x

· 1
x2

 · √1− 2x− x arccos
√

1− 1
x
· 1
2
√
1−2x · (−2)

1− 2x

39) y′ = 3 cos2 (3x− 1)5 ·
[
− sin (3x− 1)5

]
· 5 (3x− 1)4 · 3 +

+

2x2+x ln 2 · (2x + 1) · ln
(
x +

√
x+1√

2

)
+ 2x2+x · 1

x+

√
x+1√

2

·

1 + 1

2

√
x+1√

2

· 1√
2

 arcsin
√

1− x− 2x+x2 · ln
(
x +

√
x+1√

2

)
· 1√

1−(1−x)
· 1
2
√
1−x · (−1)

arcsin2
√

1− x



40) y′ =
5
(
2arccot 1

x
+ 3−x

2
)4 [

2 · −1
1+ 1

x2

(
− 1

x2

)
+ 3−x

2
ln 3 (−2x)

]
· ln (x−

√
x) · tan 3x

[ln (x−
√
x) · tan 3x]

2 +

−

(
2arccot 1

x
+ 3−x

2
)5
·
[

1
x−
√
x
·
(
1− 1

2
√
x

)
· tan 3x + ln (x−

√
x) · 1

cos2 3x
· 3
]

[ln (x−
√
x) · tan 3x]

2

41) y′ = lnx + x · 1

x
−

1√
1−x ·

1
2
√
x

(
2−x

2+x + cos 3+2x√
2

)
− arcsin

√
x ·
[
2−x

2+x ln 2 · (−2x + 1)− sin 3+2x√
2
· 2√

2

]
(
2−x2+x + cos 3+2x√

2

)2

42) y′ =
2

3
x−

1
3 · ln 2 +

[
1

tan 2x
· 1
cos2 2x

· 2−
(

arcsin
√
x + 1 + x · 1√

1−(x+1)
· 1
2
√
x+1

)]
·
(
1
x
− ex

2
)3

(
1
x
− ex2

)6 +

−

(
ln tan 2x− x · arcsin

√
x + 1

)
· 3
(
1
x
− ex

2
)2
·
(
− 1

x2 − ex
2 · 2x

)
(
1
x
− ex2

)6

43) y′ = arctan
1

x
+x· 1

1 + 1
x2

·
(
− 1

x2

)
−

3−x ln 3 · (−1) + 1

2

√
2−x√

3

·
(
− 1√

3

) · ln (x2 + cos2 x3)−
(
3−x +

√
2−x√

3

)
· 1
x2+cos2 x3 · [2x + 2 cosx3 · (− sinx3) · 3x2]

ln2 (x2 + cos2 x3)



44) y′ = 6
(

3

x
− 2x3

)5

·
(
− 3

x2
− 2x3

ln 2 · 3x2
)

+

+

[
1

sin 2x+1√
5

· cos 2x+1√
5
· 2√

5
−
(

arcsin
√
x + 2 + x · 1√

1−(x+2)
· 1
2
√
x+2

)]
· 4
√
x5 −

(
ln sin 2x+1√

5
− x arcsin

√
x + 2

)
· 5
4
· 4
√
x

4
√
x10

45) y′ =
1

1 +
(
sin 2x−cosx4

cosh3 x

)2 · (2 cos 2x + sinx4 · 4x3) cosh3 x− (sin 2x− cosx4) · 3 cosh2 x sinhx

cosh6 x
+

−

− 1√
1− (x + 2x)

· 1

2
√
x + 2x

· (1 + 2x ln 2) · ln sin
2x + 1√

5
+ arccos

√
x + 2x · 1

sin 2x+1√
5

· cos
2x + 1√

5
· 2√

5




